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QUESTION 1

Which technologies can be used with Ethernet switches to achieve redundancy? (Choose two)
A. LAG

B. OSPF

C.RIP

D. STP

Correct Answer: AD

QUESTION 2

Which of the following is NOT a characteristic of the Internet protocol layer?
A. It provides a unique addressing scheme to identify hosts.

B. It provides a user interface to the network.

C. It uses routing protocols for path determination.

D. It provides end-to-end forwarding of datagrams.

Correct Answer: B

QUESTION 3

Which of the following involves grouping a number of routes with common prefixes into a single route advertisement?
A. Hierarchical IP Addressing

B. IP Address Subnetting

C. Variable Length Subnet Masking

D. IP Address Summarization

Correct Answer: D

QUESTION 4
What is the effective maximum rate of data transmission on a 10 Mbps full-duplex Ethernet link?
A. 5 Mbps.

B. 10 Mbps.
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C. 15 Mbps.
D. 20 Mbps.

Correct Answer: D

QUESTION 5

Which of the parameters in Hello messages exchanged between two OSPF neighbors must be the same to keep the
adjacency alive in OSPF? (Choose four.)

A. Interface MTU.

B. Area ID.

C. Authentication password.
D. Hello interval.

E. Dead interval.

F. Router priority.

Correct Answer: BCDE
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